
SAP ABAP table ACCACCOUNT0T {G/L account}

ACCACCOUNT0T

CLIENT [CLNT (3)]

LANGU [LANG (1)]

ACC_CHRT_ACCTS [CHAR (4)]

ACC_ACCOUNT [CHAR (10)]

ACCACCOUNT0C

CLIENT [CLNT (3)]

ACC_CHRT_ACCTS [CHAR (4)]

ACC_ACCOUNT [CHAR (10)]

 ACCACCOUNT0T-ACC_ACCOUNT = ACCACCOUNT0C-ACC_ACCOUNT 
0..N

1

ACCCHRTACCTS0C

CLIENT [CLNT (3)]

ACC_CHRT_ACCTS [CHAR (4)]

 ACCACCOUNT0T-ACC_CHRT_ACCTS = ACCCHRTACCTS0C-ACC_CHRT_ACCTS 
0..N

1

T000

MANDT [CLNT (3)]

 ACCACCOUNT0T-CLIENT = T000-MANDT 

0..N

0..N

T002

SPRAS [LANG (1)]

 ACCACCOUNT0T-LANGU = T002-SPRAS 

0..N

0..N


